Backe BK

Simultan 2022-11-21

Partavling, 4 bord, 8 par. Antal brickor: 24. Medel: 72.0.

Plac Par Poéang % Namn MID Klubb
1 5 81 56.25 Egon Lddahl - Rolf Gustavsson 26233 31039 Backe BK
2 6 76 52.78 Tony Uppling - Goran Nilsson 15077 30395 Backe BK
3 2 75 52.08 Valborg Jonsson - Inger Eriksson Liljegren 27880 38836 Backe BK
3 7 75 52.08 Orjan Sjodin - Susanne Sjodin 16866 35255 Backe BK
5 4 74 51.39 Jan-Anders Olsson - Ann-Britt Olsson 39439 68323 Norrorts Bridge - BK Alert
6 3 73 50.69 Inga-Britt Hedstrom - Christer Berggren 48560 15748 Backe BK
7 8 64 44.44  Elisabeth Andersson - Lars Wermelin 89773 56599 Backe BK
8 1 58 40.28 Soren Andersson - Ann-Helen Engstrém 35254 38837 Backe BK - Storsjobygdens BK
1 4 D73 Basta kontrakt 2 4 EKn4 Basta kontrakt 3 432 Basta kontrakt
Nord v KD832 4¢ O =-130 Ost v43 44 S =620 Syd v EDKn9743 7v SD-5-1100
Ingen + 1032 NS + K106 ov +53
*K9 & ¢ v & NT #E10765 & ¢ v & NT *K4 & ¢ v & NT
4E1085 494 N23753 41073 &K5 N 109 6 108 «D8 & EK96 NO3851
v Kn9 vE6 S 23753 vKD102 vEKn765 S 109 6 108 vK52 v- S02851
+Kn87 ¢ KD65 O 10106 7 8 ¢ 852 ¢ DKn3 033725 ¢ ED42 ¢ 986 O 13105 8 6
D864 #EKn1053 V 10106 7 8 #432 #D98 V33725 D765 #EKn10983 V 13105 8 12
& KKn62 « D9862 4 Kn10754
v 10754 v 98 v 1086
+E9% ¢+ E974 + KKn107
*72 #KKn *2
Par  Kontr Ut Res  Poéang Par  Kontr Ut Res  Poéang Par  Kontr Ut Res  Poang
5 4 29 N= 49 110 6.0 0.0 5 4 14 S+3 vK 170 5.0 1.0 8 3 3NV-3 vA 300 6.0 0.0
7 1 2NV-1 vK 50 40 20 7 1 34 S+1 vK 170 5.0 1.0 7 1 3vyN-2 aA -100 4.0 2.0
6 2 3#0+2 a2 -150 1.0 5.0 6 2 34 S= vK 140 2.0 4.0 6 2 5#V+1 vA -620 2.0 4.0
8 3 240+3 ¢ A -150 1.0 5.0 8 3 2v0= 46 -110 0.0 6.0 5 4 3NV +2 vA -660 0.0 6.0
4 K62 Bésta kontrakt 5 « ED10542 Bésta kontrakt 6 410832 Bésta kontrakt
Vast vKD743 3v N =140 Nord v DKn8 34 N =140 Ost v 973 24 S =110
Alla ¢ E52 NS + K4 ov 465
#32 & ¢ v & NT *75 & ¢ v & NT #E1097 & ¢ v & NT
4 ED4 #9853 N86 977 4 K97 4 Kn63 N8 86 97 4KD75  4Kn6 N7 8787
v E86 v 105 S86 977 v109542 vE76 S886 97 vKn8652 vKD S78787
¢ D9763 ¢ K104 O57 466 ¢ DKn105 ¢ E8 O557 46 +Kn4 410932 O6 5656
*Kn7 #K1085 V5746¢€6 *2 #DKn943 V45745 *K8 #DKn642 V6565¢6
4 Knl107 48 4 E94
v Kn92 vK3 vE104
+ Kn8 ¢ 97632 + EKD87
#ED964 »EK1086 #53
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
8 3 4vy N= ¢+K 620 6.0 0.0 4 8 24 N+2 vA 170 6.0 0.0 6 5 2NS= v5 120 6.0 0.0
6 2 3y N= +4 140 3.0 3.0 1 3 3vV-3 &7 150 3.0 3.0 1 3 INS= v5 90 40 20
7 1 3vyN= ¢K 140 3.0 3.0 7 2 2NS+1 a2 150 3.0 3.0 4 8 34 N-1 vK -50 1.0 50
5 4 2¢N= +4 110 0.0 6.0 6 5 3NN-1 *Q -100 0.0 6.0 7 2 2¢ N-1 vK -50 1.0 50
7 a- Bésta kontrakt 8 & K965 Bésta kontrakt 9 442 Bésta kontrakt
Syd v 652 54 S D -2-500 Vast v E652 34V =-110 Nord v Kn1043 3NT N =400
Alla 49872 Ingen + DKn ov + ED6
#E98652 & ¢ v & NT #Kn84 & ¢ v & NT #K862 & ¢ v & NT
4D10985 & EKn7 N9 26 33 «D 4E108732 N 47 755 493 4EKN10765 N 9 6 9 6 9
vE4 vD1087 S926 33 vDKn7 v 384 S46 755 vD9762 v- S 9696 8
+ EKn653 ¢ D104 O 4 107 1010 ¢ K104 4763 096 576 ¢ 10752 ¢ KKn43 047 47 4
«D #KKn10 V449799 #D109732 #EK V96576 +Kn4 *D97 V47464
& K6432 +Kn4 «KD8
v KKn93 v K1093 v EK85
+K + E9852 498
#743 #65 #E1053
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
4 8 44 V-2 «A 200 6.0 0.0 4 8 3vO-5 ] 250 6.0 0.0 7 3 B3NS= A 400 6.0 0.0
6 5 44 V-1 «A 100 40 20 7 2 3NV-2 +Q 100 40 20 16 3vN= 4A 140 40 20
7 2 29v0+1 *7 -140 2.0 4.0 1 3 240¢= v3 -110 2.0 4.0 8 5 4v S-1 49 -50 2.0 40
1 3 464 V= SA -620 0.0 6.0 6 5 2NDV+2 v2 -690 0.0 6.0 2 4 49 S-2 49 -100 0.0 6.0
10 498763 Basta kontrakt 11 4 85432 Basta kontrakt 12 4 Kn9 Basta kontrakt
Ost v EKKn54 64 S =1370 Syd v 985 44 V D -2 300 Vast v 965 5¢ V D -2 300
Alla + DKn3 Ingen + K4 NS + 1063
»- & ¢ v & NT #Kn92 & ¢ v & NT #ED532 & ¢ v & NT
4ED2 #KKn1054 N 1210107 7 « EKD10 497 N559709 476542 4103 N 114 5 8 8
v 862 vD73 S 1210107 7 v 104 vD3 S55979 v73 v KDKn84 S 114 5 8 8
+ 10764 ¢ K9 013266 ¢+ DKn1082 ¢ 9753 088454 ¢ E75 ¢ KKn984 029853
#DKn7 #4652 V1326F6 «D5 #K10863 V88454 2974 *6 V29853
a- & Kn6 « EKD8
v 109 v EKKn762 vE102
+ E852 +E6 +D2
#EK109843 *E74 #KKn108
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
1 6 3#S+2 ¢T 150 6.0 0.0 7 3 4vy N= a7 420 6.0 0.0 7 3 3NN+1 vK 630 6.0 0.0
2 4 34S+1 +6 130 3.0 3.0 2 4 4e V-2 v9 100 3.0 3.0 16 INS+3 LY 180 3.0 3.0
8 5 34S+1 v8 130 3.0 3.0 8 5 4¢ V-2 v5 100 3.0 3.0 2 4 INS+3 v7 180 3.0 3.0
7 3 3NN-2 +K -200 0.0 6.0 16 4vS-1 aA -50 0.0 6.0 8 5 24 S-2 v7 -200 0.0 6.0
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13 4 DKn765 Basta kontrakt 14 & K96432 Basta kontrakt 15 4 EK654 Basta kontrakt
Nord v 1092 5& N D -2 -500 Ost v10 34 S =140 Syd v 107 44 S =620
Alla 4954 Ingen +73 NS + D2
#Kn6 & ¢ v & NT #8632 & ¢ v & NT #EK96 & ¢ v & NT
4 E982 4K1043 N9 2 433 «DKn7 485 N9 56 96 & Kn97 « D32 N 11117 107
vEDKn vK85 S92 433 vEKn82 vD754 S956 97 vKDKn542 983 S 11117 107
¢ ED32 ¢ KKn876 O 4 109 105 + 864 ¢KKn1095 O 3 7 6 4 6 + K108 4 965 0226 34
£92 &4 V 4 109 105 &#E104 #D5 V37646 &Kn D843 V22634
a- «E10 108
v 7643 v K963 vE6
+10 + ED2 ¢ EKn743
#EKD108753 #KKn97 #10752
Par  Kontr Ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
7 4 3NO-4 &A 400 6.0 0.0 6 8 24 S+2 vA 170 5.0 1.0 21 3vV-3 «A 150 5.0 1.0
35 4eV+l *A -150 3.0 3.0 7 4 24 S+2 «A 170 5.0 1.0 35 3vV-3 4K 150 5.0 1.0
6 8 4¢ O+1 SA -150 3.0 3.0 2 1 24 S+1 +8 140 2.0 4.0 7 4 34 N= v9 140 2.0 4.0
215 0= *A -600 0.0 6.0 3 5 2NS-1 +8 -50 0.0 6.0 6 8 3NS-2 vK -200 0.0 6.0
16 473 Bésta kontrakt 17 4 EKn73 Bésta kontrakt 18 # 10654 Bésta kontrakt
Vast v 10863 64 N D-5-1100 |Nord v K95 64 N =980 Ost v EK8732 ANT S =630
ov + D53 Ingen + DKn64 NS +6
*K875 & ¢ v & NT 294 & ¢ v & NT *K7 & ¢ v & NT
+E & DKn52 N7 1172 «D9 » 862 N9 9 9 1210 4 EKD98 42 N 7 5 108 10
vKDKn42 v975 S7117 2 vEKn3  vD842 S99 9 1210 vD9 v 64 S 7 5 108 10
¢ E9872 ¢ KKn6 O 6 12116 9 4975 ¢ K832 042412 ¢ Kn543 ¢ D9872 056 353
*62 #E43 V 6 12116 9 #108632 #D5 V42412 83 #DKn652 V56353
& K109864 & K1054 & Kn73
vE v 1076 v Kn105
+ 104 ¢+ E10 + EK10
#DKn109 #EKKn7 #E1094
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
21 4v V= a7 -620 5.0 1.0 3 2 44 N+2 48 480 5.0 1.0 3 2 4v S= a2 620 40 20
35 4eV= a7 -620 5.0 1.0 7 5 44 S+2 vA 480 5.0 1.0 75 4vy N= a2 620 40 20
6 8 4v V+1l &7 -650 1.0 5.0 8 1 3NS+2 +9 460 2.0 4.0 8 1 4v N= a2 620 40 20
7 4 4v V+1 a7 -650 1.0 5.0 4 6 44 S+1 T 450 0.0 6.0 4 6 3v N+1 42 170 0.0 6.0
19 4 Kn84 Basta kontrakt 20 & K8632 Basta kontrakt 21 495 Basta kontrakt
Syd v EKn42 3&V =-110 Vast v 86 44 N D -2 -500 Nord v EDKn103 44 O D -3 500
(6)) + D932 Alla 463 NS + EKKn
#E10 & ¢ v & NT *Kn762 & ¢ v & NT *K64 & ¢ v & NT
#1063 « ED2 N46 765 +E # Kn1095 N7 6 386 aD « KKn108763 N 9 10106 7
vD75 v 106 S467 65 vEKKn95 vD742 S76 386 v8542 vK7 S 9 10105 7
¢+ E10 ¢ KKn74 097667 ¢ Kn9854 ¢ 10 O6 6 105 7 47654 ¢82 032273
#Kn8742 #KD93 V97667 £K10 #9843 V 6 6 105 7 #10752 &E8 V32273
4 K975 4 D74 & E42
v K983 v 103 v 96
4 865 ¢ EKD72 +D1093
#65 #ED5 #DKn93
Par  Kontr Ut Res  Poéang Par  Kontr Ut Res  Poéang Par  Kontr Ut Res  Poéang
8 1 2vN= &K 110 6.0 0.0 3 2 3aN-1 v2 -100 6.0 0.0 2 8 4v N+1 *J 650 6.0 0.0
75 1lvS-1 T -50 4.0 20 4 6 2v V+2 +6 -170 4.0 2.0 4 3 3NS= *7 600 40 20
4 6 INV= v2 -90 2.0 4.0 8 1 4¢ S-3 vA -300 2.0 4.0 51 464 O-2 v9 100 2.0 4.0
32 2NO= v8 -120 0.0 6.0 7 5 4vyDV+1 46 -990 0.0 6.0 7 6 3NS-3 +Q -300 0.0 6.0
22 & K Bésta kontrakt 23 «ED Bésta kontrakt 24 4965 Bésta kontrakt
Ost v EK943 5¢ SD-1-100 Syd vD1098 44 V =-620 Vast v D105 54 V =-450
oV + E10876 Alla *72 Ingen + 1053
*K2 & ¢ v & NT #D10753 & ¢ v & NT #KKn42 & ¢ v & NT
« E1097 « DKn43 N 3 10103 3 4 Kn987432 4 K105 N8 7 6 33 «KKn1043 4 ED N5200 2
v 82 v75 S 3 10103 3 v 765 v EK42 S87533 vKn972 v EK84 S52002
¢+ K 49432 O 103 2 103 +5 ¢ K93 04 47 106 ¢ED ¢ Kn9842 O 7 1011118
#D107543 #EKn9 V 103 2 103 »E4 *K92 V 4 47 105 83 *75 V 7 1011118
#8652 46 4872
v DKn106 v Kn3 v 63
¢ DKn5 + EDKn10864 + K76
»86 #Kn86 #ED1096
Par  Kontr ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
4 3 4v N+1 43 450 5.0 1.0 51 3NN= vA 600 6.0 0.0 2 8 4v V-1 *2 50 5.0 1.0
51 4v N+1 43 450 5.0 1.0 7 6 54 V-1 *7 100 40 20 51 4v0-1 +6 50 5.0 1.0
2 8 3y N+3 &A 230 2.0 4.0 2 8 3¢ S-2 &A -200 2.0 4.0 4 3 264 O+4 v6 -170 2.0 4.0
7 6 1v N+3 v7 170 0.0 6.0 4 3 44 V= *7 -620 0.0 6.0 7 6 4v O+2 v3 -480 0.0 6.0
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